


RECALL
1) What is 12 − 2 =	

2)                                           12 − 2 =	

3)                                           12 − 4 =	

4) Use the number line    13 − 6 =	

12 13 14 15 16111098765432
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LEARNING HABITS?



15 – 7 =___ 

We want to jump to 10 so we need to get rid of the 5 in ‘15’. 
To do this we need to partition the 7 into 5 + __

Guided Practice: yesterday we subtracted by crossing 10 using a number line. 
Today we’re going to partition the second number to help us with jumping on 
the number line. 

Tens ones ones



13 – 9 =___ 

Again we want to get rid of the 3 on 13 so we need to partition the 9 into 3 + __ 
This makes it easier to jump back to 10 and then subtract the remaining. 

Guided Practice:

Tens ones ones



14 – 5 =___ 

Keep practicing with other calculations until you are confident enough for the task 

Guided Practice: Have a go at this

Tens ones ones



14 – 5 =___ 

Keep practicing with other calculations until you are confident enough for the task 

Guided Practice: Have a go at this

Tens ones ones



INTELLIGENT PRACTICE

11 - 3 = __ 17 - 8 = ___ 

11 - 7 = __

13 - 5 = __

13 - 8 = __ 17 - 9 = ___ 



DIVE DEEPER 1:



INTELLIGENT PRACTICE

11 - 3 = __ 17 - 8 = ___ 

11 - 7 = __

13 - 5 = __

13 - 8 = __ 17 - 9 = ___ 



DIVE DEEPER 1:



SELF-ASSESSMENT

L.O. To subtract crossing 10 20.01.2021
Some will even: make bigger jumps than one on a number line.

Some will:. Partition a number into smaller and easier parts..
Most will: Subtract using a number line. 
All will: know that when we subtract our number becomes smaller


